ZEKO CacTat ©reee Y

\¢ O G2 =24¢ =0 @) }"‘)-M/-: 4

?%;O Y y o1y t41=0
F=o ®<o0 i::co; C_j: (7'--7/(%7) -
J1=¢ y-1=0

&) o piax-» =

IR
=3 (ax—(13k-1)=0 (Jeyh)

PQ ux-t0 B=0
4x=|

3K =
B &5)
@ WO -lbw 439 =0

W'a (W *'6) — l(o C"U"D):O
(w-a W-l)=0

(w2 wt ow-4)=0

w20 WtY-0 w-4=0

v &lxn)z ot

X-Yyzo X-9:0

& &

© crann .
X (SGX-B'H%K ~3)=o0
X SECHRX -BK-3) =©
[:TX (&K -\"'.‘J) = (37\.\-35'5 -0

X (axx K -1)=0
THQE oy B30 =0
@ . @ ;*3 K= |
-} X'-'--!:?

%

ac= S6G) =g
P s 0D
(e 1n W7
95y & 32
3sL 51 s>
[7"39’ 3y D

RS )u »i3! 7
321 99

R o0 3



